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Instructions to the candidate :

1.  OHETet quTHYE HUR Vg | & I |

Candidates are required to _give their answers in
their own words as faras practicable.

2. wfE IR @R R ge o quie fafee
= 2l

Figures in the right hand margin indicate full
marks.

3. aft wewr afam €1
All questions are compulsory.
4. IWY AN GG Udteml FUTHWE WIeE-WHT &1
IR ichcy

While answering the candidate should adhere to
the word limtt as far as practicable.

| Full Marks : 80
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15 minutes of extra time have been allotted for
the candidates to read the guestions.

quq -A
GROUP - A
(3% : 60)
{ Marks : 60 )
e -
Instructions :

(i) 137 o1 U9l % IR TH 9= 7 0FH 99 F <

Answer in one word or in one sentence the
questions of 1 mark. bsebresult.in

(i) 2 3% T U % I TOHT 50 VT W, 3 IHeE

It AT & I AT 75 WET § U 5 3 et
T & I AT 150 TR A

‘Answer in about 50 words the questions of
2 marks, answer in about 75 words the

questions of 3 marks and answer in about
150 words the questions of 5 marks.
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L o itex H St o wOOT FE E@E 2] o - )
i How does change of energy take place in electric 7., & GO QTR W‘gﬁ?{lﬂﬁ EdE ? 1
motor ? ; In which medium is the covalent compound
o, o @ W 100 W - 220 V i &1 o F | soluble ? .
g 5. T W A E 2 1

et ferge T o1 HIA AT !
an electric bulb. What is the general formula of alkyne ?

100 W - 220 V is printed on L % | o
How much current will pass through the bulb: 9. 'CpHap' [T SRR & I I € ? i
- . T UF favral ﬁ:ﬂgi 1 'Cp Hgp is the general formula of which type of
B ) 5 .
Give one feature of solar energy. _ Aydrocarion.? bsebresult.in
SRy FT L R T8 2 1 10. ARG Hf TeEd ¥ R YR ST AT 7 1
4. - ‘ Ty 2.
.« the S.I. unit of resistance ? . Which metal is cut'with the help of knife ?
What is the o.1. _ . _
e i % T WA W foetett gl T 11, S HTHT & T o | | 1
i . ] . Give one suggestion for the conservation of
Tl & 7 | forest. '
On which effect of electric current docs an 12. % 8 74 B:l?f 5 5 o
olectric bell work ? bsebresult.in - } | o - 1
- ~ ) 1 . Why are plants green ?
maﬂwaﬁmmmnaﬁmﬂ}ﬁ IET
6. - 13, WO ¥ T & W E 2 1

gold measured ?

! i ity of
hich form is the puri .
Inw What do you mean by pollination 2
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14, e T 3 &g aEE A § 2 1

) I
Fish respires by which respiratory organ-?

15. Wit 3 <ot wReeT Reg wae 5 BT § 2 1

Transport of water occurs through which type of
tissue ? _

16.. Y WO ¥ 309 F1 I E 2 - 2
What do you mean by short circuit ?

17. I W OWERE ¥ 7 TS BEm s utay
Foorg | |

2
What is reflection of light ? Describe its laws
with diagram.

18. VY THEAE TGO M F 2 weww E) o

What is balanced chemical equation ? Give
example,

19. W#aﬁwwﬁﬁ?%j |

What are the resources of
energy ? |

2

ndn—renewable
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20. 3IHIYR § GrEE F W) T i 7 2 2
~What is the role of digestive juice in the
stomach ?
21, W U8 varHsad § T AR E 2 2
<l 2 Y
What is the difference between respiration and
breathing ?

a0 ST SR S AT oI 41 el S & 2 3

Why is convex lens called converging lens ?
23, Wl & G- S E 7 g fmad ¥R ¥
gareg 7 3

What is grouping of resistances ? What are its
types ? bsebresult.in

g, R o e & P o e e S
el | 3

Write tli;e pracess of making the Plaster of Paris
and its uses.

i
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25. WWW%?WWﬁF@%
et e # e e 3

ectron ? Write number of the

What is valence el
valence electron in sedium.

;awsﬂiaﬁqﬁﬁmﬁ?@l

Write the difference between blood

27 mwmmﬂﬁ'%wqﬁmfﬁ@i 3
male and

and lymph:

Write the names and functions of

female sex hormones. bsebresult.in |

za,qﬁzﬁﬂw%?aﬁﬁaﬁmamﬁ% ? 3R
Eraror & fope W € 2 5
et
oy w@TE 7 ’Pmﬁg:ﬂ@?ﬁmsﬁ%mﬂanﬁ\a
aﬂiaﬂﬁiﬁﬁﬁ,mﬁﬁﬁmﬂ?%ﬁm
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What is vision defect ? Name its types. How can
they be removed ?

OR
What is resistance ? How is the resistance of a
coil calculated practically with the help of
ammeter and voltmeter ?bsebresult.in

09, TN WEC & ? T THMH H Jeoid S

HEAT
el & e RO SR 3yl 3iad el o
T AR § ? A*
What is energy crisis ? Describe its remedy.

OR

What are the differences between Mendeleef's
periodic table and Modern periodic table ?

30, Wi e R WA fE e dverse @

fpar o aifadled 19 O &l £ 5
Describe the experiment which shows that
oxygen gas Is released during the process of

photosynthesis.

2
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qq - B
GROUP -B
(37 : 20)
( Marks : 20 )

agaEfeas Uy

Multiple Choice Questions

w7« 30 e o : 20 x 1 =20

Time : 30 minutes Full Marks : 20 x 1 = 20
T e :

(i)

(i)

General Instructions :

Tl WY U 3 I ¢

Each question carries one mark.bsebresult.in
fu T T § 9R dfodas ST N § el IR
Reicpeq W T & e ford | |

Write down the correct choice with question
numbet from the given four options.
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- 31, Fr=fefas faeedl o O wel fased 9

Choose the correct alternative from the given
four options :

(i)

(1)

QA IYUT BT ST el &l @

@ FIATEH

(b) TRAEE

{o) (a) 3N (b) THI

@) T A HIE T

The image formed by plane mirror'is
(a) wvirtual

(b) real

(c) both (a) and (b}

_ ({d) none of these.

e g v @ w@ & fw few ow @
HEAER BT € ?

a)  ITd (b) AadeT

(c)] WEHTRR (d) TH 9 FE &=
Which lens is used to remove the near
sightedness defect ?

(a)  Comvex (b) Concave

() Cylindrical (d) None of these.

' 2
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SCIENCE

Ry 45 o (F9 TR & o o e Y 0

~a) Jde (b) 3&add
(c) THAIEHR (d) ST |
What type of lens is found in human eye ?
(a) Convex (b) Concave
{c) Ring (d} Bifocal. -

favarR wos Tt 97 F) FE A
(a) ST _(b) aleeHeR
(¢ TeaREER (), T B A

The instrument. used to measure the
potential difference is called bsebresult.in
(a) ammeter (b) voltmeter

(c) galvanometer (d) none of these,

FERY W OfRE ufw § & oW

Sl ¥ 2 %iﬁﬁ?g“mm
fa) Huithe R e
(b) P BSEBResult.In
© (al @T tbﬂﬂ’r el &
(d) FH € w3 T
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(vi)

(vii)

12 8. Code :

Ammeter ig connected in anp electric

circuit
(@) in series

(b) in paralle

¢} both (a) and (b)
([d) none of these,

EIET R &7 g 1, ey 3

(@) = (b}  Feim

(€) @' ~(d} _ sy

The S.1. unit of electyie current is

(@) velt (b)  coulomp

€  watt (d)  ampere

[ i Q- % weafyes yfafars
TIME 7

_la) I ob) TEe

(c) SiEwEHE @) ¥ F 8 59
By which | i i
rﬂmEd; Cns only wvirtual lmage is
(a) Convex () Concave

lc) Bifocal (d) None of these,

[2]
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| (xi) EET EESOE @ €A T §
(viii) CuO + 1;2?4* Cu + Hy0 " N
) Wi (b) GTIA (c) & (d) ST
(& H

Carben combining with hydrogen forms
(c) ST () (a) ionic compound
What type of reaction is (b) hydrocarbon
CuO + Hy —» Cu + HyO? (c) halogen
(a) Oxidation (b) Reduction (d) raqua regia. '
(c) Neutralisation(d) Redox. | fxii) HATEA TR & TRIH & A q€g %

(x) TOEEA & IR E = difites FEed €
) R (o) S
@ FEREC . @ T8

@) A (b) AN R
© 6FTTE_qap. Fw O

The members of-1st group of the periodic

the compound formed by transfer of | table are psebresult.in
electrons is called () ?‘md metal  (b) alkaline metal
(a) covalent (b) electrovalent (c) inert gas (d) alloy.
() carbonic  (d) noneof these. (xii) A 5 CO, N =t IRy &
) e ST € | B 001% (b 005%
(@) = I8y PR = . fa 1003% d 002%
p o AT (d) ST S The presence of CO, gas in atmosphere ig
is an example of (a) 0-01% :
iﬁasletﬂ (b} non-metal (C]) 0'030‘{: “;] 0-05%
(c) alloy (d) metalloid. | d) 0-02%

@ { Turn over . % ‘ E‘l
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(xiv) 'NaOH' %
(a) 3T (b) &R
Ac) T () §9 | g 7TE |
‘NaOH' is
(a) acid (b} alkali
[c) salt (d} none of these.
(xv) 3T R
(a) THEEA (b)) TE
(c) Y (d) FEEEE
Auxin is
(a) ahormone (b) _{fat
(c) enzyme {d)” carbohydrate.
(xvi) TS OR[ & 94 A HT 90T @l 8
(a)  HUSEA (b) THIRT
(o) wFEmEE  (d) Femfe

. is not a part of human
female reproductive system.

(a) Ovary (b) Uterus
{(c) Vas deferens (d) Fallopian tube.
xvii) TRITRIET H &l &
(a) STl a¢7 (b) TSR
(c) S (d) TOTRCTI
' E [ T‘{xrn over

by:BSEBResult.In

SCIENCE

16 8l. Code :

811

The anther has
(a) sepals (t)
(c} ovules (d)

ovary
pollens.

(xviii) TR G0} % AW aTETEeR €

{xx)_

(a) CO, Ab)  FARIES
() ERWEW () FFE | o

Essential for autotrophic nutrition is

by:BSEBResult.In

(a) CO, (b} chlorophyll

(c] sunlight {d} all of these.

TS & ¥R & ged a2 o

(a) @R (b) SRR

(c} ATENTH ~(d) QS:F-!E;[ |

The largest gland of human body is

(a) liver {b) pancreas

(¢} ovary (d} adrenal.

QIR BTH S ISR B

(@) T (b) UEHE

fc) TR (d) TRTRTHI

Example of phytohormone is

(a) pcpgin (b) adrenaline

{¢) auxin {d) testosterone.
2




